JKTERTT (BAL) PREINH R

TH 8K AL
T H Gty

TUH A (FRZ8) o) KT SR B

|4

FEHIT: KTV ER

Bz O 1EFEZ O FKITEHE 0% = F PR

Hk H . 2022429 H20H

W CRAD AT T BT 5 B e L SO 11 26 5 W 4 L

F H H F H H F H H



I H Z A B

TRIH 2R BT bR TR H AR — R H Ymhs
— I H 2R S B PR AR 55 CH I H 2851 31I-ARZ X HIH =R
T H 2z HEAE 01— T H HWiH @ 01-FF&E1Em B FEME 124 M I
PR 205 7K T SRR IA L o 205001~ 7K 7 By FEI - VI
FEH] i <R }v2 A IR AR R MO001-H 5E X
I H UG 2023 Tt H R 14 SN WAk - &k
T H A YR HHAEER 5% 205001 B 55 e R ETH 5
AR H 7 Je B o Fm) BT
y 5 HL A y
15T NHLIE 13774120958| R 4 432731 BT H K AR RS KT 1384
g e 7 e e g 525251 H 7
75 SH AR A i JE IR G & T H B 57000
Hh., 22 N
5 H SR HRLARIVA O 4 T 22, B BT 54001 H s = BATE
it H ik PRI BRI BR TR e, Wi TARKG . BR T 22 1) T et A2
T H St g & BT ARKG . T2k sh4s
— RS S A

THEARE & 5




I H W HE R

" i H AR5 |l B | e | e | TEER | SRR \ "
b 4 o s i = a = M H
S| iR | St 20 b e | T | N R K
M0001-H & X 57000
LGN R 17000 1 17000 R W BT 72 HEURE AR N D3 R BB A A b v

RIE TSR T, HETSL%, MM ET
T o2 %% 40000 1 40000 BT —ER IR L2 s), 83283 &MWLk
P2t DA % 4 2 3 A T SRR TSOAE ) 2




RS TR

Jn

FE

HkE (o)

B %A ()

it

2023

57000




IS A b

G b

S H IR

PRI B ER T OHR,  WnbpE IR AR . B L32[ LA A&




ISYLS5iY Eiztian

EIRE: 2023

SURIRIRR

2B 2023

1=} *\ N b;\ QEE/): b;\
e bR AT MR | AR | R | b || O SRR SO
1 r= e bR
K fahn
HA T A A 1 1 = 1 K TR e
T.5i53) 2 2 = 2 R THRI bRk
Ji TR bR
NS 5% 95 95 = 95 % THRIbR
TaiEs B 95 95 = 95 % THRI bRk
i 2R b
5E B[] 12 H /i 12 A | JE T 12 7 i
JRAFE B
ks o 17000 17000 < 17000 JG THRI bRk
TR A 40000 40000 < 40000 JG THRI bR
2 R e FE b
G R b
FE2 R TR bR
R 5 0o fi B3R B3R e B3R PRI HE
H 25 EBE B3R B3R e B3R THRIbRTE
A B TR
BEsRsS- Ak,
3 W = TR bR
W= TR bR
I 25 0t G305 = 95 95 = 95 % THRI bR




S SR by

2t

SRR

TRbr 2K

i SR AR fE

FEEERME

B

fRbriE

PR AL

TRbME
!

TRbRELH
FE I

GUAIENR
K

7 R b

B bR

PR AR

"
S

v dlpR

T 2353

W

"
=

2Bkl

SRR bR

HIThkE 5%

95

95

95

i dpR

TaEHS 5%

95

95

WV

95

v dlpm i

i e b

58I (]

12580

12 H A

—

E

12 H 81

JEAAE bR

ke 2

17000

17000

17000

i dlpR

TR

40000

40000

N[N

40000

S

v dlpm i

Rad fabn

1 SR (1)

A2 R fEbR

T Lo

R4

i}

23R =

il

ETE

R4

v dlpm i

P25 1 fE

2 4

i

R 3R =

i}

EE

R4

v dlpR

A5 R B

PR bR

R bR

H 55 % G

95

95

\%

95

%

bt




